
Lines and Angles



➢ to identify parallel, 
perpendicular, and skew lines

➢ To identify the angles formed 
by two lines and a transversal



Parallel lines are coplanar lines that do 
not intersect.  The symbol ∥ means “is 
parallel to”.

𝑅𝑉 ∥ ___ ∥ ___ ∥ ___ 



Perpendicular lines intersect at 90˚. The 
symbol ⊥means “is perpendicular to”.

Perpendicular to 𝑆𝑊: 
____ , ____ , ____ , 
____ .



Skew lines are noncoplanar.  They 
are not parallel and do not 
intersect.

Skew to 𝑊𝑋: ____ , 
____ , ____ , ____ .



Parallel planes are planes that do 
not intersect.

Plane QUW is ∥ to
plane ____



Name the following:

1. a pair of parallel planes

2. All lines that are parallel to plane 
QUR



In Exercises 3-8, describe the statement 
as true or false.

3. 𝑨𝑬 and 𝑬𝑭 are skew lines.

4. plane DBF ║ plane ABD

5. 𝑮𝑯 ║ 𝑬𝑭

6. 𝑫𝑩 ║ 𝑨𝑬

7. plane EFH ║ plane ABD

8. 𝑭𝑯 and 𝑪𝑫 are skew lines.



Transversal – line that intersects 
two or more coplanar lines at two 
or more different (distinct) points.

Line a is the 
transversal that 
intersects line s and 
line t



Alternate interior angles are 
nonadjacent interior angles that lie 
on opposite sides of the transversal.

∠2 and ∠8;
∠3 and ∠5



Same-side interior angles (or 
consecutive interior angles) are 
interior angles that lie on the same 
side of the transversal.

∠2 and ∠5;
∠3 and ∠8



Corresponding angles lie on the 
same side of the transversal and on 
the same sides of the lines (s and t).

∠1 and ∠5;
∠2 and ∠6;
∠3 and ∠7;
∠4 and ∠8



Alternate exterior angles are 
nonadjacent exterior angles that lie 
on opposite sides of the transversal.

1 and     7;
4 and     6



Decide whether the angles are alternate 
interior angles, same-side interior angles, 
corresponding angles, or alternate exterior 
angles.
9. 2 and 7

10. 5 and 4
11. 8 and 3
12. 6 and 4
13. 1 and 5



➢ A transversal is a line that 
intersects two or more coplanar 
lines at distinct points.

➢ These intersections form 4 
different kinds of angle pairs.



Your friend says that the sides of a 
ladder and the rungs of a ladder 
are skew. Is this true? Explain.

No. The sides of the ladder would need to be perpendicular 
to the rungs for the ladder to be functional. Also, the sides of 
the ladder would be parallel to each other, and the rungs of 
the ladder would be parallel to each other.



 Got It: Classifies planes, lines, and angle pairs 
in real-world situations

 Almost There: Classifies angle pairs with two 
lines and a transversal

 Moving Forward: Classifies lines as parallel, 
intersecting, or skewed

 Getting Started: Classifies planes as parallel or 
intersecting
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